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1-Anatomy & Physiology

1. Match the following

Nerve Name

@ Iv (i) Facial Nerve

(b) VII (i) Accessory Nerve
(c) Vv (iii) Trochlear Nerve
(d) XI (iv) Trigeminal Nerve
A. a-i, b-iv, c-iii, d-ii

B. a-iv, b-i, c-iii, d-ii

C. a-iii, b-i, c-iv, d-ii

D. a-ii, b-iv, c-i, d-iii

2. Total number of vertebrae in human
body-

A
B.
C.
D.

25
27
29
33

3. State true or false -
The gas which stimulates respiration is
oxygen.

A.
B.

True
False

4. Milk ejecting hormone is-

A.

Prolactin

B. Oxytocin
C.
D. Estrogen

Progesterone

1- TATETHY Ug fhiNTaetsit

freferfaa =t framd-
atrT il
(a) 1V (i) =EHTE
(b) VII (i) TR abAeht
(c) V (iii) Sifererer dfehT
(d) XI (iv) Torem dfenr
A. a-i, b-iv, c-iii, d-ii
B. a-iv, b-i, c-iii, d-ii
C. a-iii, b-i, c-iv, d-ii
D. a-ii, b-iv, c-i, d-iii
T TR H HEhT] hl el T
A. 25
B. 27
C. 29
D. 33
T AT AT FAT-
LG T IS A Tt T SRS 2
A. E&l
B. T
4 eI A1 BT -
A. Jraifee
B. eI
C. TNETH
D. TEINH

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-JSK-VHT-ENT-M

43 Set A



5. The passage of air from nose to lung is 5. 9% W BWHST o T T AN 39 YK &-

as foIIowsI- h h A. ATk TE Rt hhe
A. Nose-larynx-pharynx-trachea-
lungs YEPIEY B. ATsh-Et-SioheT- - b
B. Nose-Pharynx-trachea-larynx- C. Th-THN-Ea -2 fh3TT-She
lungs D. AR - He
C. Nose-pharynx-larynx-trachea-
lungs
D. Nose-trachea-larynx-pharynx-
lungs
6. The layer of the uterus that is sloughed 6. iy it I U S ATfEeh 9 ok SR
off during menstruation is- ) B ST B
A. Endometrium A sty
B. Myometrium N
C. Perimetrium B.
D. Serous layer C. dffy
D. ¥E 9T
7. lons necessary for nerve impulse 7. dfEeRt SATeT & oY Tavae -
conduction- (1) @ifeaw
() Sodium (1) dreRmm
(1) Potassium
(1) Calcium (I11) etz
(IV) Magnesium (IV) BT
A. (1) and (I1) only A. Fad (I) T (II)

B. (1), (111) and (1V)
C. () and (1V) only
D. (1), (1) and (1V)

B. (D), (III) Td (IV)
C. &ad (1) T (IV)
D. (D), (IIT) Ta (IV)

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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8.

10.

The correct sequence of flow of nerve
impulse is-

() Cell body

(1) Axon terminal

(111) Dendrites

(IV) Axon

A. (1), (1), (1IV), (1)
B. (1), (IV), (1), (1)
C. (), (I, (1), (1V)
D. (IV), (1), (1), (111)

Arrange the following as per stages of
bone healing-

()  Haematoma formation

(1) Granulation tissue formation
(111) Bony callus formation

(1V) Bone remodelling

A. (), (11, (), (IV)
B. (1), (I1), (111, (IV)
C. (1), (1), (IV), (1)
D. (1), (1), (1), (IV)

The synthesis of bile occurs in the-
A. Liver

B. Gall-bladder

C. Pancreas

D. Duodenum

8.

10.

diFrehT TTeRT YaTE T Tt oA 2-
1) TAIRR

(1) T T 37d

(Il) Sgrse

(IV) T@EH

A. (1), (1), (1V), (11

B. (1), (1V), (1), (11)

c. (1), (1), (1), (1IV)

D. (IV), (1), (1), (111)

TSE! o6 AR ok =L o SFTAR
freferRaa =t srafted -
(I) THIMT T

(1) THER Ideh T fmfor
(III) TSEIER g sl fmfor
(IV) BTSS! T qH-wIT

A. (1), (1), (1), (IV)
B. (1), (1), (1), (IV)
C. (1), (1), (IV), (1)
D. (1), (1), (1), (IV)

O SRT ES590T BIAT &-
A.

B. fummery &t Oeft &
C. IR Y

D. el |
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2-Microbiology 2- ATSEhIS AT TSt

11. Match the following- 11. f=ferfaa =i fiamd-
Column - | T - 1
(@ Penicillin (a) AR

(b) Postulates
(c) Pasteurization

(b) RIS (AT

(d) Bacterial Transformation (c) TTRTEIshT
Column - 11 (d) AT e (S afed)
() Robert Koch 10
o e 0
(1V) Louis Pasteur ’ (IT) ﬁ%’ﬁ?ﬁﬁﬁw
A. al, bl c-ll, d-1V (IIT) Fefaiet FAfd
B. a-Il, b-lIl, c-1V, d-I (V) T T
C. a-1V, b-111, c-1, d-IlI A. a-1, b-1II, c-II, d-IV
D. a-lll, b-1, c-1V, d-1I B. a-IL b-IIL, c-IV, d-I

C. a-1V, b-1, c-I, d-1I
D. a-lI, b-1, c-1V, d-II

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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12. “Kaufmann white scheme” is used for
identification of-

() Salmonella spp.

(1) Shigella spp.

(1) Bacillus spp.

(IV) Staphylococcus spp.

A. () only

B. (1) and (1) only
C. (l) only

D. (1) and (IV) only

13. Who gave the “Five kingdom
classification?”

A. Carl Woese
B. Robert Whittaker
C. Robert Koch
D. Joseph Lister

12. oI aTge STTeRtor” fore SO s ot

13.

SUIEEACIREECIEY
(I)  STeHIT Tfeltst
(1) frre =S

(111) e wfds

(IV) T fthetiehione Titetst
A. Fad (D)

B. ahaet (1) @ (1)

C. ad (110

D. shae (I1I) T (1V)
foeT & o fope <at=r arTs afiecor fea
oqT?

et ArgE

e fogeat

e e

ST foreet

o o w >
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14.

15.

Arrange the following steps to carry
out “Standard Plate Count (SPC)” of a
liquid food product-

(I) Serial Dilution
(1) Sampling
(1) Counting
(1V) Pour Plating
(V) Incubation

A. (V)= —=IV)>D)—(1T)
B. (MH—->{D)—>{V)>1)—(V)
C. (Ih=M)—->UV)—>(V)—(11)
D. (IV)=>()—(1)—>(1)—(V)

Arrange the different steps of Gram’s
staining in correct order-

(1)  Safranin stain application

(1) lodine treatment

(1) Smear preparation

(1V) Crystal violet stain application

(V) Alcohol treatment
(decolorization)

A. (D> =D —>(V)—>(V)
B. (V)>({V)—=(D)—>I1)—()
C. (M)->0V)->UD)—>(V)—=()
D. (D—>{V)—>UI)—(11)—(V)

14.

15.

o =t fopet ot @ vt & e Wi
AT (BSE Wi 1<) shi TfshaT o Tt
S | STHTT-

() Hret S

(1) &gt

(I11) HTfeT (TruF)

V) IR AT

(V) SeReeH

A. (V)=>1D)—>AV)—>I)— (1)

B. (III)—(ID)—>IV)—>I)—(V)

C. dh)->D—->1V)—>(V)—11)

D. IV)->{D)—>{I)—>1)—((V)

7T T ST ferar o =T Bl Ot oA O
\_7|'£|TQ:_

(I)  ESRIH €T ST

(1) SATNEN IR

(I11) THREX ST

(IV) TorEeet St & LI

(V) Ueehgiet Sue (fererot )

A. (D> —>AL)—>AV)—>(V)

B. (V)=>(IV)—I)— (1) —()

C. (IIH)—(IV)—>ID)—>(V)—=()

D. (I)—>(IV)— () — () —(V)
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16. Study of Fungi (Yeast and Molds) is

17.

18.

called as-

A. Phycology
B. Entomology
C. Zoology
D. Mycology

Which of the following is a “Gram
Positive Bacteria™?

(I) Lactobacillus spp.
(1) Listeria spp.

(1) Salmonella spp.
(1) Bacillus spp.

A. Only (1)

B. Only (1) & (I)
C. (), (1) & (1V)
D. (1), (I) & (IV)

Which is the highest level of a BSL
(biosafety level) lab?

A. BSL-3
B. BSL-4
C. BSL-5
D. BSL-6

16.

17.

18.

T (GHI 37 F6E) o LA h T
FRd &7

A. SIS

B. deHS

C. Sarstt
D. HIghIATS

T o @ T <o -itsiea SR 82
() ey TS

(A1) Tt wfids

(1) arene e

aV) ftew wfds

A. Fad (D)

B. & (1) 3R (1)

C. (), (III) 3R (1V)

D. (D), (II) 3R (IV)

{3 T <RI Uk RIS 6 Seadd
STIEH et (BSL) &7

A. SlTETa.-3

B. SI.U8.Ud.-4

C. sflwaua.-s

D. Sl.G8.Td.-6
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19.

20.

Log phase of a bacterial growth curve
is also known as-

A. Algebraic phase
B. Exponential phase
C. Geometric phase
D. Quantitative phase

Assertion (A) : There is no net
increase in the number of bacterial
cells in stationary phase of a bacterial
growth curve.

Reason (R) : Bacterial cells are
growing exponentially in stationary
phase of a bacterial growth curve.

A. Both Assertion (A) and Reason
(R) are true.

B. Assertion (A) is true but Reason
(R) is false.

C. Both Assertion (A) and Reason
(R) are false.

D. Assertion (A) is false but Reason
(R) is true.

19.

20.

SteTy SIfeq arsh 3 AT =R0T shi I frw
T & ST ST 22

A. Tesifss =X

C. s (Sfremfeesr) =T

D. HMETHS =0T

AR (A) : ST s 56 o fEer

0T H SAETU[AT hl AT H IS J[ER

seradt 7el et 21

T (R) : SHAT] Jfeq o75h oh e =T

STy, =T & (TR RTEe) sed 2

A. THAT (A) TUTHRT (R) HT &
CEES

B. AR (A) HE & T T (R)
TeAd 2l

C. IFT JMFHAT (A) I HRT (R) T
2

D. e (A) Td & T FRT (R)
CHES
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3-Fundamental of Nursing

21. Braden scale is used for assessing the

risk of-

A.

B
C.
D

22. Match the following instruments with

Decubitus ulcer

. Diabetes Mellitus

Hypertension

. Urinary tract infection

its uses-

(a)
(b)
(©)
(d)

)
(1

Column (1)

(Instruments)
Snellen Chart

Goniometer
Oculomotor test
Tuning fork
Column (11
(Uses)

To assess the functions of the
cranial nerve

To assess the vision

(1) To assess the hearing acuity
(IV) To assess the range of motion
Select the correct answer from the
options given below-

A. a-ll, b-111, c-1V, d-1

B. a-ll, b-1V, c-1, d-1ll
C. a-lll, b-I, c-1V, d-ll
D. a-1V, b-1l, c-1, d-11l

3- GweTHE HTH AT
21. S Thel T YN SRGH a1 3Thet
0 & forr fora srar -

A. SIHR[fE HH
B. WIHE

o

C. 3= &M

D. T T T HhHT

22. frferfad Suerton 1 3o STEm &
gferd hIfsTe-
-
(39T
(a) AR
(b) T
(c) SApeimTet wlier
(d) T
TR-11
(S ST
(I) TS dTRT o I ST IATHhTI LA

& for
(I1) S T TTehet L o ford
(I11) =T YETTAT ShT TR0 T o forr

(IV) T Y AT 7 TRt i o o
e fo2r 7 e W © w3 TH-

A. a-ll, b-111, c-1V, d-1
B. a-ll, b-1V, c-1, d-1ll
C. a-lll, b-l, c-1V, d-lI
D. a-1V, b-1l, c-1, d-11I

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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23. Arrange the following stage of 23. @ghmor o feferfad =won & sh o
infection in order- AT hi-

(a) Prodromal stage (a) SrEret =T
(b) Clinical stage -

(c) Incubation period (b) & T

(d) Convalescent period (c) e e

Select the correct answer from the (d) TATET ATH =07

options given below- :ﬁ%ﬁa@ﬁwﬁ@gﬁwgﬁ_

A a—>b—oc—d
A a—>b—->c—d

b>c—>d—a
bo>c—>d—oa

B
C. co>a—>b—d
D

B
C. c>a—>b—d
. d—>c—>a—>b 5

.d—>c—sa—b

24. Failure in the professional practice 24. TR v U fasherar ek swro
that leads to harm to the patient is QY Rl 11 Bt ®, ShaaTd] 2-
known as-
A. Negligence A
B. Battery B. skt
C. Malpractice C. haEr
D. Assault D. THcAT
25. What is the best position for insertion 25. Tsed 2 TeH o forl gl 3r=sl feurfa
of Ryles tube? T 27
A. Low fowler’s position A B wreed feufy
B. High fowler’s position
g_ N P B. 3=u wead feufa
C. Supine position
D. Dorsal recumbent position C. ge
D. it it g8 Reerfr

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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26. For the Assertion (A) and Reason (R)
given below choose the correct
alternative-

Assertion (A) : Air is a poor conductor
of heat.

Reason (R) : Presence of air in the hot
water bottles and ice bags can reduce
the heat conduction making the
treatment less effective.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

26. i few T e (A) IR HROT (R) & ford
U (A) : AT I 1 FeaTera
SHTOT (R) : TH I T St ST % oht
Sferat o e shi Suftafa o demer =
T L Gehell 2 Srad So=r o6 arel) &1
ST 2

A. FIT (A) SFHRT (R) SHT TT &
3T HWIT (R), FAT (A) T Tl
ST 2

B. & (A) 3 R (R) ST &g &
3T HWIT (R), FAT (A) T T&T
AT T 2

C. FUT (A) T & ATk SROT (R) TeTd
2

D. &U (A) 3TH § AT HRIT (R) A

2l

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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217.

28.

Clinical Manifestation of
hypocalcaemia includes-

(a) Numbness and tingling sensations
(b) Shortened QT interval in ECG

(c) Chvostek sign

(d) Trousseau sign

Select the correct answer from the
following options-

A. (a) and (b) only

B. (c)and (d) only

C. (b), (c) and (d)
D

. (@), (c) and (d)

The patient assessment includes the
following types of approaches-

(a) Emergency

(b) Focused

(c) Comprehensive

(d) Diagnosis

Select the correct answer from the
following options-

A. (a) and (b) only

B. (b)and (c) only

C. (a), (b) and (c)

D. (b), (c) and (d)

217.

28.

EElshed iR st Jarfien stfireafe d
o 8-

(a) T8 €1 STHT A GG Heqd T
(b) 3.HSH. T BT QT Faura

(c) warees fug

(d) 283 e
frfaRad foereat @ @ O STt = 3w
L

A. Fad (a) 3 (b)

B. &ddl (c) 3T (d)

C. (b). (c) IR (d)

D. (a), (c) 3 (d)

T Hearieh | fFfeTRad e o goehior
ST 2-

(a) HAM™IdRIA

(b) hfsd

(c) foreqa

(d) fer
frfaRad foemeat @ @ & ST =aw
FL

A. Fad (a) 3T (b)

B. ad (b) 3 (¢)

C. (a), (b) 3 (c)

D. (b), (c) 3R (d)
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29.

30.

The patient can breathe only in an
upright position is called as-

A. Apnea

B. Orthopnea
C. Tachypnea
D. Bradypnea

Arrange the following steps of hand
washing in order-

(@) Wash palm and fingers

(b) Wash thumb

(c) Wash fingers and knuckles
(d) Wash back of hands

Select the correct answer from the
options given below-

A b>c—>d—oa
B. a>d—>c—b
C. d»a—>c—>b
D

. co>a—>b—d

29.

30.

it Sheret ©ieft e o € wig o whaT 2,
4 e ©-

A. TafRn

B. 3meTgfa=

C. forufam

D. sEMaT

g1 9 & fFefafad s s s |
aferd -

(a) BT AT Iforat eng

(b) ¥ €T

(c) SIfeTIT 37 I =t 4ig

(d) =it o1 forser feeen g

A fo2r 7 e W © w3 -

A b>c—>d—oa
B. a>d—>c—b
C. d»a—>c—>b
D

. coa—>b—od
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4-Community Health
Nursing

31. Number of deaths of children under
the first 28 days of life per 1000 live
births per year is known as-

A.

Perinatal mortality rate

B. Neonatal mortality rate
C.
D. Infant mortality rate

Maternal mortality rate

32. In India, as per RCH which one is the
first referral unit?

A

Sub center

B. Primary health center
C.
D. Regional hospital

Community health center

4-FHET Fo AT

31. yfer o wh 1000 Sfferd St=T o€ St o
et 28 ot o 3fat sral oht 7o ohi He
e &-

A. TEIHTAN HeJ T
B. erITd qeg T
C. "I HT

D. Rigaeg =t

N <O

32. AR, HI. TH. o TN WA H Taelt (e
TS ShiF ©T 27

A. STHE

B. e T g
C. TTETRIF e 5
D. & SRqard
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33.

34.

Arrange the following steps in
formulation of Family Health Nursing
Process at Planning Phase-

(a) Setting goals and objectives.

(b) Establishing priorities.

(c) Formulating family health and
Nursing care plan.

(d) Analysis of health problems and
assessments of family’s abilities.

Select the correct answer from the
options given below-

A. (a)—>(0)—>(c)—(d)
B. (b)—>(¢)—>(d)—(a)
C. (d)—>(b)—>(@)—(c)
D. (¢)—(a)—(b)—(d)

The principles of primary health care
includes-

(a) Equitable distribution

(b) Community Participation

(c) Unisectoral approach

(d) Appropriateness and continuity
Select the correct answer from the
following options-

A. (a) and (b) only

B. (a) and (c) only

C. (a), (b) and (d)
D

. (@), (b) and (c)

33.

34.

TS =T o urfianties e afdT

gfskar & fomior & fFreferftad =mor = s

T Sk ohi-

(a) & R 329 Ferifia s

(b) STufeRard wemfud |

(¢) UTHETTeh Tameey 3T AT g@Ter
ST R T

(d) TETES TEETSAT 1 fersdor
TR GHaTel ST SThe|

e foq e forereat 7 & wET I M-

A. (a)—(b)—(c)—(d)

B. (b)—(c)—(d)—(a)

C. (d)—(b)—>(@)—(c)

D. (c)—(a)—(b)—(d)

ITIfier TR @I o faegiar o et
=

(a) | faawor

(b) TN GEMTRIAT

(c) U arfrr gihior

(d)  SoeherT T foderar
frfaRad foereat @ @ & ST ==
FL

A. Had (a) 3 (b)

B. %ad (a) 37 (c)

C. (a), (b) 3R (d)

D. (a), (b) 3 (c)
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35. For the Assertion (A) and Reason (R)
given below choose the correct
alternative-

Assertion (A) : In passive immunity
the body does not produces its own
antibodies but depends upon
readymade antibodies.

Reason (R) : Passive immunity rapidly
establish and produced is only
temporary (days to months) till the
antibody is eliminated from the body.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

35. i few T e (A) IR FWOT (R) & ford
U (A) : Sshar g o TR 1o
T o GIETE! 3T IcdTed e T &
sfoeh e Tdlsiel W it et Bl
IO (R) : Fftsher wicme asft & onfua
3R Iearfea Bidft & S haret Srerft (et
o qEHT aek) Bt 2, ST e fob IR |
TS uTy Tl & S|
A. FIT (A) I FHRT (R) ST AT 7

3T HRIT (R), FAT (A) T Tl
ST 2

B. &Y (A) 3 N1 (R) SHI TF &
TR SHOT (R), 9 (A) T T
AT T Bl

C. FU (A) T & Ak HROT (R) TTeAd

2l

D. &¥ (A) 3TH § AT HRIT (R) A

2l
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36. Match the Health Planning Committee ~ 36. Rd & Tamee e wiftifd =t ad & fire

in India with Year- FL-
(Cl-cl):;:?hnl;lgnninq Committee) -1
(a) Bhore Committee (FRITE AT B
(b) Kartar Singh Committee (a) wR@Emid
(c) Mudaliar Committee (b) TR fig wfufa
(d) Chadha Committee ©) quﬁ
Column - 11
(Year) (d) az—-rrgaﬁf%r
(1) 1973 -1
(1) 1946 @)
(1) 1963 @ 1973
(V) 1962 () 1946
okt e e fome s
A. all, b-1ll, c-IV, d-| (V) 192 .
B. a-ll, b-l, c-IV, d-1iI A<t fag e feeedt o & e S -
C. a-lll, b-1V, c-1, d-II A. a-ll, b-1ll, c-1V, d-1
D. a-1V, b1, c-111, d-II B. a-ll, b-l, c-1V, d-lll
C. a-lll, b-1V, c-I, d-1l
D. a1V, b-l, c-111, d-II

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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37.

38.

The data collection techniques used in
the community assessment includes-

(a) Organization and comparisons of
problem

(b) Making appropriate judgement
(c) Effective communication
(d) Investigation and measurements

Select the correct answer from the
following options-

A. (a) and (b) only
B. (c)and (d) only
C. (a), (b) and (d)
D. (b), (c) and (d)

ASHA workers work at which level?
A. District level

B. Community health center

C. Village level

D. Primary health center

37.

38.

AHRTIIh Heaish H YN ohl ST ATt
(a) HTS SR FHET HT T

(b) 3fua ot o

(c) 9T H§=)

(d) = ST AT
frreferfae fompedt # & et 3 T4-
A. Fad (a) 3T (b)

B. ad (c) 3 (d)

C. (a), (b) I (d)

D. (b), (c) 3 (d)

ASHA el fohd &t o i ohid 29
A. Sarsr

B. TR W& e

C. Ta &R

D. Sreifireh Tmeed s
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39.

40.

Arrange the following steps of bag
technique in order-

(a) Spread Newspaper on a flat, clean
surface and place the bag.

(b) Prepare a disposal bag using
Newspaper.

(c) Fold the Newspaper with used
side inside and place it in the outer
pocket and carry the bag.

(d) Give the Newspaper bag with
used cotton to family for disposal
by burning.

Select the correct answer from the

options given below-

A. ()—>(d)—>(@)—(b)
B. (b)—~>(¢)—>(d)—(a)
C. (@)—(c)—>(b)—(d)
D. (8)—(b)—(d)—(c)

Prevention of risk factors related to a
disease condition is known as-

A. Primordial Prevention
B. Primary Prevention
C. Tertiary Prevention
D. Secondary Prevention

39.

40.

T e ek o fEfARad = =6t she o

T TEd -

(a) TGS ! GHA, AT g T HelTd
ST T |

(b) TR T AN ek U (ST
AT AR A

(c) TR ! TEAUTA Tt &l T 3ieT
T T OIS I e SieT § T 3R
EURSESILY

(d) SEQHTC T TS &3 b T TG Hl
AT ST o for afar i <

et fa o forsped & & Wt IR -

A. (¢)—(d)—(a)—(b)

B. (b)—>(c)—(d)—(a)

C. (A—>(c)—>(b)—(d)

D. (2)—(b)—(d)—(c)

forelt Tt St fearfa & Gsifera sifam et

ol TR ol el STTdT &-

A. HifcTe TR
B. uTfieh v
C. qarTe Tha™
D. fadteren Trehermm
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41.

42.

5-Environmental Hygiene

What pollution is responsible for
“Knock-Knee Syndrome?

(I) Fluoride
(1) Mercury
(1) Arsenic
(IV) Lead

Select the correct answer from the
following options.

A. 1l &1l only
B. Il only
C. Il &IV only
D. lonly

What causes air pollution naturally?
() Volcanoes

(1) Dust storms

(1) Agricultural run off

(IV) None of the above

Select the correct answer from the
following options.

A. I &Il only
B. Il &Il only
C. I &llonly
D. Il &IV only

41.

42.

5- TAATIRHEH BIefoi

I |1 9GO “Afh-1-Rigr” o feTg
forer 22

(I) WAES

(II) YT

(III) TEfHH

(IV) €&r

1 ¥ & 8T ST -

A. Fad 11 R

B. ad Il

C. *ad 11 3 IV

D. ad I

ST TcIeh & & ST goT 3hT HR0T T 87
() et

(1) ot il 3ATeft

(1) &S ar ST o SR dr 9§
ettt O ST et W e 2

(IV) 39UH | O IS el
Forer 2 & e e -

A. Fad [ R
B. & II 3111
C. FaA 11

D. had I AR IV
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43.

44,

45.

The key features of Zero Waste
Management are-

A. Segregation of Waste at Source
B. Separate collection for each type

C. Community involvement in all
activities

D. All of the above

Match List | with List I1-

List-I List-11
(Effect type due (Example)

to sea level rise)

(a) Biogeophysical (1) Rehabilitation
effect

(b) Climatic effect (1) Flooding due
to sea water

(111) Salt Water

(c) Social effect

Intrusion
(d) Non climatic  (IV) Storm
effect changes

Select correct answer from the options
given below-

A. a-lll, b-11, c-1V, d-1

B. a-lll, b-1V, c-I, d-ll

C. a-lV, b-1ll, c-11, d-I

D. a-IV, b-lll, c-1, d-1

When did the Government of India
pass the Environment Protection Act?
A. 1990

B. 1986
C. 1896
D. 2000

43.

44,

45.

STRY I BAITHE % T T 8-

A. 1T T &l e AT TIFRT

B. e & foTu st dug

C. vt wrifarera & e sht yrferd
D. IWI # & |+t

o=l [ o1 =T 11§ GHfoTd -
il sl
(EETRHIRE S ([
FHTOT TIT ThR)

(a) SE¥ifRR T (1) aTE

(b) SAAI TS (II) TR & I 6
HRT @

(I11) @ 9Tt 3T
TS

(d) TSI I9E (V) TEM Sl &

e fag e ferereat & B ST -

A. a-lll, b-ll, c-1V, d-I

B. a-lll, b-1V, c-I, d-1l

C. a-lV, b-111, c-11, d-I

D. a-1V, b-ll, c-1, d-1l

(c) TR ToTa

YRA LR = Y TaRT EeI0T AT e
EUEGREDIV

1990

1986

1896

2000

o w>
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46. Which act was passed to protect and
improve the quality of our

environment?

46. gHI qTaIToT <Al G ST TUEr § GUR
o foru s 97 rferfram arfia feram mmm am?

A. AT e ST Tfarfam

A. The Mental Health Care Act
B. The Coal Mines Act B. TetT e Sferfam
C. The National Sports University C. T wa fovafermer siferfrm
Act D. YaTaRor dXeer SAff=m
D. Environment Protection Act
47. Sequential phases in the process of A7. QTR ETS shi Uik § SshiHeR =0T
community organization are- -
E:i) ’(A)\rgt;_anlsart]lonal phase (1) ST =
ction phase :
(1) Exploratory phase (I =
(1V) Discussion phase (IIT) el =T
Select the correct options. IV) ==t =T
A LIV Hl W -
B. LIV, I A TILLILIV
C. IV LI, B. IILLIV,II
D. IV, I, I, 1
C. IV, LI III
D. IV,ILIIL I
SPACE FOR ROUGH WORK / T @t & forar g
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48. Public water systems often use a series ~ 48. TSI ST YUMferdt TR STt U=

of water treatment steps that include- ITON Sl ek SRGAT T YA L] 2,
(I) Filtration S s &-
. 0 e
(1V) Sedimentation (ID) T
(V) Flocculation (IlI) SHTE
Select the correct answer from the (IV) gdred
options given below. V) Wﬁ?ﬂ\ﬁm
A LV IV LT ggﬁtmrq;ﬁ
B. LLILILIV,V

A 1LV, IV, 1I
C. V,IV, LI 1
D. IL LIV, LV B. LILULIV,V

C. V,IV,LL1II, 111

D. I LIV,IILV

49. Which of the following day is 49. f=fafaa o @ ® a1 for fova gatawon
celebrated as World Environment fegg & &9 O 997 SITdT 22
Day? t
S

A. May 1% A L
B. September 5% B. feqwa 5
C. December 1% C. femrr 1%
D. June 5" D. S5
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50. Given below are two statements- 50. = a1 e fau B 2-

Statement | : Atmospheric stability is FU-1 : TIHSART R qRcaqot &
important because it determines the ﬁﬁﬁ%ﬂ%@ﬁﬁmﬁ%mm
ability of pollutants to disperse ° © .
vertically in the atmosphere. 8 e A Frerifee e é'
Statement I : In India, in summer FUF-11 : IR § 7 o Heg §, FrareT
season, the atmosphere is generally AR 9T feor war 2
stable. TR T o 3TTedleh § i< feu e
In the above statements choose the 3 RS —
correct answer from the options given ST I
below. A. e 13T ae §)
A. Both Statement | & Il are true B S A 5
B. Both Statement | & Il are false .
_ C. 97 T T S FH [ 39 &

C. Statement | is true but Statement 11 '

is false D. % [ 38 g 3R %o 1 97 3

D. Statement | is false but Statement
I1is true

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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6-Medical Surgical Nursing 6- Afgwetr aiierer afd

51. Match the following- 51. fefaiRaa s foad-
Column - | Y -1
E‘;; gyplero_pia (a) O ST WTH-ET% T feT
iplopia —
(c) Myopia () 1]
(d) Emmetropia (c) TrregiEem
Column - 11 (d) T
() Near sightedness Y -1
(I1) Absence of refractive error 0 Pk

(111) Double vision

(V) Farsightedness (IT)  STercieh [ T AT

Select the correct answer from the (I el gfe
option given below- (IV) e
A. a-lll, b-1V, c-II, d-1 ﬁ%%&mﬁwﬁﬁwﬁwgﬁ-
B. a1V, b-lll, c-l, d-Il A. a-lll, b-1V, c-Il, d-I
C. all, bl c-lil, d-1V B. a-1V, b-lll, c-I, d-II
D. &l b1V, c-ll, -1l C. a-ll, b-l, c-1lI, d-1V
D. a-l, b-1V, c-11, d-1II
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52. Following are the non-modifiable risk

53.

factor for coronary artery disease-
(a) Obesity

(b) Heredity

(c) Gender

(d) Age

Select the correct answer from the
options given below-

A. (), (b) and (c)

B. (b), (c) and (d)

C. (a) and (b) only

D. (c) and (d) only

Which hormone play key Role in
maintenance of fluid volume?

(a) Antidiuretic Hormone
(b) Aldosterone

(c) Atrial natriuretic peptide
(d) Cortisol

Select the correct answer from the
following options-

A. (a) and (b) only
B. (c) and (d) only
C. (a), (b) and (d)
D. (a), (b) and (c)

52.

53.

HIU o= U o ford T aftaa-ia
SRew s feforiad -

(a) wierT

(b) SR

(c) fefm

(d) 1Y

e fow T forehed © & @&t S TH-
A. (a), (b) 3 (c)

B. (b), (c) ¥R (d)

C. Fad (a) 3 (b)

D. %ad (¢) 3T (d)

I ©T BTH 5 shl AT o TER@rd o
AEcaqul fHeRT e 82

(a) Uleemgifes gm

(b) TSR

(c) Tfeae Ffe3fdeh Ueerse

(d) =mfeaa
fferfaa foseat @ @ ot ST FHT =TT
FL

A. Fad (a) 3R (b)
B. ad (c) 3 (d)
C. (a), (b) 3 (d)
D. (a), (b) 3 (c)

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-JSK-VHT-ENT-M

43 Set A



54.

55.

Asthma is basically called as-
A. An infectious disease

B. An Autoimmune disease
C. An Atopic disease

D. A malignant disease

Assertion (A) and Reason (R) given
below choose the correct alternative-

Assertion (A) : Diagnostic cardiac
catheterization are commonly
performed on an out patient basis and
require 2 to 6 hours of Bed rest before
ambulations.

Reason (R) : Bed rest for 6 hours
compared to 2 hours has no advantage
with regard to groin bleeding
complications, variations in time to
ambulation are most often related to
the size of the catheter used during the
procedure.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is not
the correct explanation of
Assertion (A)

C. Assertion (A) is true but Reason
(R) is false

D. Assertion (A) is false but Reason
(R) is true

54.

55.

STEHT S 7T T ST ©-
A. T HghtHeh T
B. Weh Saufaweft 4

C. T T2ifush T
D. U Bfere=e o

e fod T e (A) R HRT (R) & foig
FU (A) : SEHIREEF hTTSTH

FAf TSI ATHI I SITRT Y o SATIR
TR foRaIT SITAT @ 37 GelRM § U8t 2 | 6
£ o Toreat 3T T TTavTehdT Bt 2
T (R) : 2 H HT T H 6 5 ok W
AT T & M T ThEd shi
SIfeedTatt o Heier § IS T T eI e,
IR o H H f3e=TaT 3tere SIfsharm <
S ITANT fohT ST aTet SHlet & 3T
U Helfora Brt 2

A. FUT (A) ITHAT (R) AT TT
3T HRIT (R), FUT (A) FT Tt
ST R

B. &9 (A) 3 HIT (R) SHT T &
3T R (R), FUT (A) o Tt
ST T 2

C. FUT (A) T & AR FHRT (R) TTeAd

2

D. FUT (A) 3T 8 Ak T (R) T
2l
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56.

S7.

Arrange the triage category in priority
according to severity of injury in
order-

(@) Injuries are minor and treatment
can be delayed hours to days.

(b) Injuries are life threatening but
survivable with minimal
intervention.

(c) Injuries are significant and
require medical care but can wait
hours without threat to life.

(d) Injuries are extensive and
chances of survival are unlikely
even with definitive care.

Select the correct answer from the
options given below.

A. (a)—>(b)—>(c)—>(d)

B. (b)—>(c)—(a)—(d)

C. (©)—>(b)—>(d)—(a)

D. (d)—(b)—>(a)—>(c)

Which of the following drug is a
proton pump inhibitor?

A. Ranitidine

B. Sucralfate

C. Misoprostol

D. Omeprazole

56.

57.

e 26T TRAT 6 SATAR Srefiehdr H

2TSUST 20T T ShH T ST hi-

(a) =S AT Bt & ST 3Tt H &iei @
R 3 Tt ek ohi ) &1 Hehell 2

(b) =1 Sffa o g Eaw @ feh =T
TEIAT Y ST SIT Tk 2

(c) = TR 2 37 Terfohea <aviTet <t
SATITIAHAT & ATh i bl Tl
T 5t ST hTAT I HehdT 2

(d) = =amaeh & 3R (e v
STerS[e 1 SHtfere T8 2l ETaT 8 2

et T2t T forshe o & wEt ST -

A. (@) —>(b)—>(c)—>(d)
B. (b)—>(c)—>(a)—(d)
C. (c)>(b)—>(d)—>(a)
D. (d)—(b)—>(a)—(c)

[N N aN

frefefigd 5 9 19 9t gar Tie  ug
YIS 22

A. ifefea
B. gehIethe
C. framr
D. TSI
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58.

59.

60.

Arrange the following stages of shock
in order-

(a) Compensatory stage

(b) Irreversible stage

(c) Progressive stage

(d) Initial stage

Select the correct answer from the
options given below-

A. (@)—(d)—>()—(b)
B. (d)—(a)—>(b)—(c)
C. (d)—>(@)—(c)—>(b)
D. (8)—(c)—>(b)—(d)

Pressure caused by water volume in
the Blood Vessels is called-

A. Hydrostatic Pressure
B. Oncaotic Pressure

C. Osmotic Pressure

D. None of the above

The most common cause of intestinal
obstruction is-

A. Adhesion
B. Hernia

C. Volvulus
D. Neoplasm

58.

59.

60.

T & freferfagd =mor ot ohm J g fteq
FL-

(a) &fagfd =

(b) I =TT

(c) TTferefiet =mor

(d) TR =T

A faq g foreped W & @ET I -
A. (a)—(d)—(c)—>(b)

B. (d)—(a)—(b)—(c)

C. (d)—(a)—(c)—(b)

D. (a)—(c)—>(b)—(d)

Th SITfeeRTSAT § I <Al HTSIT o Sh0T 814

STt ST T el ST 8-
A. TSRZIfEe gama

B. il qamd

C. wrEeft gore

D. T @ s off 7

AT THTIE hT Y ITH HIIT 8-
A. ITSH
B. &far

~

C. dicdoi®

p)

D. s
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7-Mental Health and
Psychiatric Nursing

61. A short term goal for a patient with
Alzheimer’s disease is-

A

B.

Improved problem solving in
activities of daily living

Improved functioning in the least
restrictive environment

Regained sensory perception and
cognitive function

Increased self esteem and
improved self concept

62. In Schizophrenia gradual subtle
behavioural changes occur in -

A

Premorbid phase

B. Cloud phase
C.
D. Progressive phase

Prodromal phase

7- WS god U AT AT

61. FoseHET U7 ¥ difea Uft o few wen

o
AUHIAF T8 2-

A. e Sfiam shi fafatet 4 sgat
T U

B. &H 9 %Y YidseTcdsh aTdTeor §
HTHERTS] H G

C. Hddl TR SR HFHTCHE Hre I
STH €1 77T

D. HTeH TFT S13T I STcH SFTLN
G gHAT

62. fersirh e o sgeer # €t ot gem aitEdT

T 8-

A. dHifsig =or

B. 138 =01

C. TSme =

D. STferziet =or
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63. A nurse Monika is caring for a male
client who experiences sensory
perception without any stimulus this
perception is known as

A. Delusion

B. Depression
C. Hallucination
D. Hlusion

64. A psychiatric illusion may be
manifested by all of the following
except :

A. Impairment in Pre-existing
functioning

B. Disturbance in behaviour
C. Unpopular beliefs
D. Impoverishment of feelings

65. Complicated grief also known as-
A. Unresolved grief
B. Atypical grief
C. Chronic grief
D. Both Aand B

63. T TH HIfeHT Teh T AU ohl @I
) 2 S forr foret ST o Hadt amon
T STV LT &, 9 HTOT i HaT STl

-

A. feege
B. @R
C. Bfaad
D. 3eed

64. ffcifigd ST St Tk AT et g9
frfaRaa avft & g0 vone &t gehar &-

e © HISE HTHRS H BT

IR | TSae

AR forgme
CICEICC O RATEG

o o w >

65. Sifeet g% 5a/3 A8 W il STHT ST 8-
A FHAAT ST
B. SEMAgHE
C. aﬁﬁam%ﬁsg:@r
D. ARBTHl
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66.

67.

Positive symptoms of Schizophrenia
shows-

(a) Bizarre behavior

(b) Alogia

(c) Avoidition

(d) Disorganized thoughts

A. bandc
B. aandd
C. candd
D. aandc

Direction : For Assertion (A) and
Reason (R) below choose the correct
alternative.

Assertion (A) : Lithium should be
stopped before ECT.

Reason (R) : To prevent cognitive
morbidity.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

66. fosshaT o gerrrcHes werr fewd 2-
(a) Tafem sERR
(b) ITAITRT
(c) &S
(d) TFafYd fomm
A. b3Tc
B. a3Md
C. c3rd

D. a3R¢

67. i fou T @ (A) 3 HRT (R) & forw
FIT (A) : SN B yeet faform s s &
ey
T (R) : GFMHTCH TUTAT o6l Uk o
fer|

A. FUT (A) ITHAT (R) AT TT
S HTIT (R) T (A) T Tl ST
2

B. & (A) 3R (R) ST cd &
3T RN (R) AT (A) T H& T ST
T 7

C. HU (A) T & Afohd HIOT (R) TeAd
2l

D. & (A) 3T & ok SR (R)

2
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68. Psychological Symptoms of

generalized anxiety disorder are-

(a) Inability to control excessive
hearing

(b) Hot Flashes
(c) Difficulty in concentrating
(d) Headache

A. aandc
B. bandd
C. dandc
D. aandb

69. Arrange the following method which

IS used to monitor seizure.

(a) ECT stimulus is applied and time
noted.

(b) Inject muscle relaxant.
(c) BP Cuffis applied to a limb.

(d) Inflated 50-80 mm of hg above
systolic BP.

a—>b—o>d—oc
b>c—>d—a

c—>d—oa—b

oo w»

d—sa—>c—b

68. wmT=fighd feidT forsh o T otequr

69.

8

(a) 3TcATere G o ik bl ERT
T srgaedar

(b) T FIEH

(c) UshErT § hieTg

(d) fored

A. a3c

B. b3id

C. d3itc

D. a3b

e st fre o foru fmferfaa fafer st
YT Rl AT hi-

(a) SIS SETeTE @ fopa ST @ 37
T e foma STt R

(b) ATEURTT T ST qg=T et
ERENERGUIY

(c) it ot T T S T AT ST 2

(d) fq@aifers BP &1 50-80 mm of hg

[ERSIEN

a—>b—-d—c

b—-c—>d—a

c—>d—a—b

oo w>

d—sa—>c—ob
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70.  Matching the following-

Column (1) Column (11)
(a) Mania () Ambivalence

(b) Schizophrenia (I1) Loss of Interest
(c) Depression (111) Elation
(d) Neuroses (IV) Anxiety

Select correct answers from the option
given below.

A. a-l, b-ll, c-1V, d-llI
B. a-lll, b-I, c-Il, d-1VV
C. a-lV, b-l, c-1l, d-1I
D. a-ll, b-l, c-1V, d-llI

70. Fretferaa i fred

*ied (1)

Av]

i (I1)
(a) Tl (1) gl

(b) TosRfET (1) <8 AT e

(c) HAIHIS
(d) =feE

(IIl) 3ETE
(av) f=ar

e faq Tg forered W & @ET I -

A

a-1, b-11, c-1Vv, d-l11

B. a-lll, b-l, c-Il, d-IV
C.
D. a-ll, b-1, c-1V, d-1ll

a-1Vv, b-1, c-11, d-111
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8-Midwifery and
Gynaecological Nursing

71. Match the following signs with its

interpretation.
Column - 1
(Signs)
(@) Hegar’s Sign
(b) Chadwik’s Sign
(c) Osiander’s Sign
(d) Chloasma
Column - 11
(Interpretation)
() Increased pulsation
(1) Pigmentation of face during
pregnancy
(111) Blueing of vagina
(1V) Softened isthmus

Select correct answer from the options
given below-

A. a-l, b-1V, c-lll, d-11
B. a-lll, b-1, c-ll, d-1V
C. a1V, b-l, c-lll, d-ll
D. a-1V, b-lll, c-I, d-ll

8- feamawit g e e
FfdT

71. fefeafiga dehdt o @ saren 1 faa=

FHiT-
it - 1
()
(a) T =
(b) <efoed foa=
(c) sTified fae
(d) FAET
it - 11
(e
(1) A BRI o T (TeTeE)
HEHH L
(1) TTTaREeIT o S =ed T &es 8|
(I11) Tr7rer e/t =61 e s
(IV) SEIHE T T T
e fow T foreredt o & w2 3T TH-
A. a-l, b-1V, c-IIL d-II

B. a-IIl, b-I, c-II, d-TV
C. a-IV, b-I, c-III, d-TI
D. a-IV, b-III, c-I, d-II
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72.

73.

Megaloblastic anaemia is due to-
A. Impaired DNA Synthesis

B. Impaired RNA Synthesis

C. lron deficiency

D. Intestinal malabsorption

During labour features of constriction

ring in uterus is-

(a) Uterus upper segment is tonically
contracted with no relaxation.

(b) Uterus upper segment contracts
and retracts with relaxation.

(c) Fetal parts are easily felt.

(d) The position of the ring does not
alter.

Select the correct answer from the
following options.

A. (a) and (c) only
B. (b) and (d) only
C. (a), (b) and (c)
D. (b), (c) and (d)

72.

73.

ST § BT seATriesh TR &1 o o

5

A. foTeT 83T SLEA.T, Eeguor

B. oRTST g1 STR.TA.T, HouoT

C. 3T hi At

D. 3Tdl o1 FHAAN

TG o S TS | shikgarr o &t

forereaTd 8-

(a) TSR T ST W T o foheft
farferer o 21tk 9 @ siedae fomam
ST 2

(b) TR =T ST 9T F3Tfore 8 W
i I g B 2

(c) 90T 3 T =T SATETT & wegw foran
ST GehdT Bl

(d) T i feufa 72 sgerdt 21

freferfiaa foremedt & @ w2t STt o1 =

-

A. T (a) 3R (¢)

B. fa® (b) 3 (d)

C. (a), (b) 3 (c)

D

. (b), (c) 3R (d)
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74.

75.

Arrange the following embryological
development according to their
gestational weeks in ascending order-

(a) Eyelids fuse.
(b) Nasal septum and palate fuse.
(c) Testes descend into scrotum.

(d) Heart develops and begins to beat.

() “Quickening”

A. (d)—>(@)—(b)—(e)—>(c)
B. (a)—>(b)—>(e)—>(c)—(d)
C. (b)—>(e)—>(d)—>(c)—~(a)
D. (c)—>(b)—>(a) —>(d)—>(e)

The first Partograph device is
developed by-

A. Meagher
B. Lewis and Drife
C. Friedman
D. Kaufman and Liu

74.

75.

frferfiad yofter forshme T 3o THehTel
THTET o STTHR AL ohH H afeerd hi-
(a) T S ST 2

(b) =& HeH SR AT T RIS &1

(c) TNUT T STSHITT (ThIeH) T I
(d) & foremfrd BT uer erger|

(e) “Terepfr”

A. (d)—(a)—>(b)—>(e)—(c)

B. (a)—>(b)—>(e)—>(c)—>(d)

C. (B)—>(e)—>(d)—>(c)—>(a)

D. (c)—(b)—(a)—>(d)—>(e)

T TSI STRLOT foheteh ST forenféra
foparm T2

A. T

B. 39 3R fg®

C. ShIgsiq

D. i 3R forg.
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76. Arrange the developmental steps of 76. fafua fea & foremaenss =mom st ST

the fertilised ovum in ascending order- T T ST -
(a) Blastocyst (a) SETERIRRE
(b) Embryo
(c) Implantation (®) (H'ET
(d) Trophoblast (c) T
(e) Morula (d) DA
A. (€)—>(b)—>(d)—(e)—(a) () HIEAT
B. (@) —(c)—>(e) —>(b)—>(d) A. (¢)—>(b)—>(d)—>(e) —>(a)
C. (0)>@)->()~>d)-() B. (2)—>(c)—>(e) > (b)—>(d)
D. (e)—>(a) >(c) —>(d)—(b) C. () (a) > (¢) > (d) > ()
D. (e)—>(a)—>(c)—>(d)—(b)
77. Absence of Spermatozoa is- 77. ToRTo] o6t 3rqa et i Fad e-
A. Oligospermia A. ST
B. Azoospermia B. ST
C. Ejaculatory failure c ;
D. Endometriosis
D. demfentaa
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78.

79.

Features of true labour pain are-
(a) Painless uterine contraction.

(b) Contraction with decrease
intensity and duration.

() “Show”
(d) Progressive effacement and
dilatation.

Select the correct answer from the
following options.

A. (b) and (c) only
B. (c)and (d) only
C. (b), (c) and (d)
D. (a), (b) and (c)

Edward’s Syndrome is also known as-
A. Single gene disorder

B. Trisomy - 21

C. Trisomy - 18

D. Trisomy - 13

78. Wﬁ%@)m%%ﬁw@%-

(a) TomTee o Taier § S|

(b) et ST SR H SHHY 6 |l Hepe|

(c) “am

(d) TieT e 1 FfafiTer huate
3R SeATa BT

frfaRad foereat @ @ O STt = 3w

L

A. f&d (b) 3R (¢)

B. fad (c) 3 (d)

C. (b), (c) AR (d)

D. (a), (b) 3 (c)

. 30 UgaeH faegim o A & oft ST ST 2-

A. THd ST fohr
B. ZEdm - 21
C. 2IsaHt - 18
D. gt - 13
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80. Directions : For the Assertion (A) and

Reason (R) below choose the correct
alternative.

Assertion (A) : During ovulation the
basal temperature drops slightly and
then rise.

Reason (R) : Basal temperature drops
because of decrease production of
progesterone and rise because of
increase production of estrogen.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is
NOT the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

80. feum : = few T gTET (A) 3T HET (R)

o forq @t fereed <H-

3T (A) : HISIAIH 6 S SHA qIHT
ofieT iRt ® SR O =g STTar 2

T (R) : TSR o ScUTET | &t oh
HIOT S I § Tee 3Tt § 3T
TEEISIH o 3cATEH H Jeq o T 1eq
gt 2|

A. TET(A) 3T HROT (R) SHT T B 3R
T (R), 14T (A) T T =TT 2|

B. @M@ (A) 3T HNA (R) ST &cT 8 3
T (R), TTET (A) T el SIRAT 21
2l

C. IET(A) TcT © Al HRT (R) TTAd
2l

D. &M@ (A) 7T § Afeh 1T (R) T

2l
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9-Child Health Nursing

81. While giving injection in vastus
lateralis muscle the needle is inserted-

A. Perpendicular to the skin or at 45°
angle towards the knee

B. Perpendicular to the muscle or at
80° angle towards the femur

C. Perpendicular to the skin at 90°
angle in greater trochanter of the
femur

D. Perpendicular to the skin or at 45°
angle at upper outer quadrant of
gluteal muscles

9- TTSEE o AT

81. Ty ATy HigUT | S o T
g3 (Tee) STeft St -

A

oI o TSI AT I hl AT 45°
I T

TIGUR o SAeerd AT HIT T AR §0°

% T W

T o Tead AT BT o 958 T H
90° % 10T T

T o e AT A HIEUTRTAT ok
ST SR ST 0 45° % R0 T
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82. Directions : For the Assertion (A) and

Reason (R) below choose the correct
alternative.

Assertion (A) : Using live vaccines is
contraindicated for children receiving
irradiation therapy.

Reason (R) : Children be susceptible
to infection because of a depressed
immunity.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is
NOT the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

82. faum : = few Tw grET (A) 3T HET (R)

o forq @t fereed <H-

g (A) : T (3tfeuem) ferferear umw

T ATt e o [T e (ATSd) Rt

T SUANT f8id B

T (R) : HASTR TTcrIersh &THdT o T

STl HshAUT o Tfd daeTeiie 2d 2

A. TET(A) 3 HRIT (R) SHT T © 3N
T (R), 3T4T (A) =t Tt AT 2

B. @M@ (A) 3T HNIT (R) ST TcT B 3
HTIT (R), STET (A) T T AT &1
2

C. IET(A) T B, ATk SR (R) TeAd
2l

D. @@ (A) TTd 8, Ak %107 (R) I
2l
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83.

84.

Match the following stages with
period of development-

Column - |
(Stages)
(@) The Phallic stage
(b) The Anal stage
(c) The Latency stage
(d) The Oral stage
Column - 11
(Period of development)
()  School age
(1) Infancy
(1) Preschool
(1V) Toddler

Select correct answer from the options

given below-

A. a-l, b-Il, c-1V, d-111
B. a-lll, b-1V, c-1, d-1l
C. a-ll, b-1V, c-1ll, d-I
D. a-1V, b-1ll, c-II, d-I

From which germ layer heart is
developed during embryonic
development?

A. Ectoderm
B. Mesoderm
C. Entoderm
D. Endometrium

83. forepre St 3rafey o wry frferRaa =wor
T THeT -
i - |
(GS))
(a) BTfcTeh =or (foftT JeTTarEaT)
(b)  TI&T =T (TeTTE)
(c) ITIBIAEAT
(d) HifRgeh =IO (ETe)
i - 11
(Toreprar <t 31afer)
() EpasH
() fwy
(IL) 3t Tepet
(IV) e’
e fow e foreredt # @ | 3T -
A. a-L, b-I1, c-IV, d-III

B. a-IIl, b-IV, c-I, d-II
C. a-L b-1V, c-III, d-I
D. a-IV, b-1IL, c-II, d-I
84. yufter forehre o S fope TTTY] WR (S
TR) & YO T TG T {THT BT 2
A. TFISH (STl W)
B. TEISH (HeT WA)
C. TASieH (3fafn wa)
D. SiamaisrIehal
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85.

86.

87.

In newborn the flat, red, localized
areas of capillary dilatation on the
nose, upper lip or back of the neck is
known as-

A. Desquamation
B. Tissue turgor
C. Mongolian spot
D. Giectatic nevi

Acyanotic congenital heart disease
include-

() Arterial septal defect
(1) Coarctation of the Aorta
(111) Patent ductus arteriosus
(IV) Tetralogy of Fallot

Select the correct answer from the
following options-

A (1), (1), (IV)
B. (1), (1), (IV)
C. (I), (1), (1)
D. (1), (1), (1IV)

Child Abuse Prevention and
Treatment and Adoption Reform Act
amended on-

A. 1969
B. 1974
C. 1978
D. 1982

85.

86.

87.

TSI f3TSy 7R, S §ia a1 T % fi
SRITSTERT o TheTel, HUTE, TATC TR &1
I hEd B-

A. faeesT (SodRuM)
B. 3 TR

C. uMiferTs Tie

D. faefem a=ft

S8 U hI9 O THUAI S SIS ged AT
27

1) oot e gy

(II) FTErwT BT Hpe / HH-<

(II) et ST 31 U BT

(IV) ZTATS 3T hedTe
frafefad faereat & 9 &t ST ==
£t

A. (), (ID), (IV)

B. (II), (IN), (IV)

C. (D), (ID), (1I)

D. (1), (IID), (IV)

e T AR | Eeme fora -
A. 1969

B. 1974

C. 1978

D. 1982
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88. Arrange the following stages of Wilms

Tumor-
(a) Hematogenous Metastasis.
(b) Bilateral renal involvement.

(c) Tumor extends beyond the kidney
but is completely excised.

(d) Tumor is limited to the kidney
and is completely resected.

Select the correct answer from the
options given below-

A. (a)>(d)—>(c)—>(b)
B. (d)—(¢)—>(b)—(a)
C. (d)—>(c)—>(a)—(b)
D. (b)—>(d)—(c)—>(a)

89. Arrange the following steps of warm

chain to prevent hypothermia in
newborn.

(a) Appropriate clothing.

(b) Warm resuscitation machine.
(c) Skin to skin contact.

(d) Immediate drying.

Select the correct answer from the
options given below-

A. (d)—(c)—(a)—(b)
B. (b)—(d)—()—(c)
C. (b)—>(d)—(c)—>(?)
D. (d)—(a)—(c)—(b)

88.

89.

fererer ZgAT o T eTRara <ot st

ST Ed -

(a) TEHINToE e

(b) 3T TS T IS BT

(c) TY L e et ST ITE & T doh
el ST R

(d) TR G AT & 7T (el & St
& 3T 7 &1 |fd e 8

e fer e ferehedt & & w2t ST TH-

A. (a)—>(d)—>(c)—(b)

B. (d)—(c)—>(b)—(a)

C. (d)—(c)—>(a)—(b)

D. (b)—(d)—(c)—(a)

FarTTa T3] # STgHTA T i ek o foTQ

TH SEar (A =) % ffcTRad =won

T -

(a) IHRIH & Y&

(b) TASter (FEeieRT) R i T/
ATl

() o ¥ =T T HYeh S|

(d) T g@mm

e fow T foreredt 7 @ w2t 3T -

A. (d)—(c)—>(@)—(b)

B. (b)—(d)—(a)—>(c)

C. (b)—>(d)—(c)—(a)

D. (d)—(a)—(c)—(b)
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90. The types of atresia of the esophagus

with tracheoesophageal fistula in

newborn include-

()  Upper esophagus ends in a blind
pouch and lower esophagus
communicates with the trachea.

(I1) The upper esophagus ends in a
blind pouch and lower segment
does not communicate with the
trachea.

(111) Both upper and lower portion of
the esophagus communicate with
the stomach.

(1V) Both the upper and the lower
portion of the esophagus
communicate with the trachea.

Select the correct answer from the

following options-

A. (1), (1) and (1)
B. (1), (111) and (IV)
C. (1), (111) and (IV)
D. (1), (I) and (IV)

90. et fRreyatt # SforretsioRre fhegar

o 1Y T (TTHAeT) o T fea o

JShRI T A & -

(1) 8 et e el It & e
Bt @ S Forreft arerett ameret &
T TER AT 2

(1) S ureelt ek el It & e
Bt @ S Forreft arerett ameet &
T TR e A 2l

(I11) Tt 3T SOt SR f=rer g v
U2 O HAR LT 2

(IV) Tt 3T Fdt R et S o
ATEAAT oh G T T 2

frefaRaa foereat & @ wed ST 1 ==e
i

A. (D), (II) 3T (11D

B. (II), (III) 3R (IV)

C. (1), (II) 3R (1V)

D. (1), (II) 3R (IV)
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91.

92.

10-Administration and Ward
Management

Identify the correct sequence of the
steps involved in the staffing process.

(@) Selection

(b) Manpower planning
(c) Orientation

(d) Recruitment

(e) Placement

Select the correct answer from the
options given below-

A. a>c>e>d>b
B. e>c>d>b>a
C. c>b>e>d>a
D. b>d>a>e>c

The Evaluation of Nursing Care by
examining the records and charts of
discharged patients is-

A. Nursing Management Audit
B. Concurrent Audit

C. Retrospective Audit

D. General Audit

91.

92.

10-tsufAeyE Ug are #stic

T SToRAT H TS <O o HEl STTehn
1 Ig=T -

(a) =

ORSEUSAERISES

(c) ANITT=TE

(d) wrff

(c) wHEHS

e fou T farshedt o | I T I -
A. a>c>e>d>b
e>c>d>b>a

C. c>b>e>d>a

D. b>d>a>e>c

fewast ford T 7T h fearTe 3= &Y
ST shteh TR STt T Heaish fohaT
ST -

A. T e 3Hifee

B. @yad! 3ATTee

C. qa=am siifse

D. 9 3ATfee

W
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93.

94.

95.

False harmful written report is called-
A. Libel

B. Slander
C. Felony
D. Tort

Purpose of ABC analysis in material
management is-

A. To determine stocking
B. To control purchasing
C. To control obsolescence
D. To control inventories

Directions : For the Assertion (A) and
Reason (R) below choose the correct
alternative.

Assertion (A) : Autocratic leadership
style is centralized decision making.
Reason (R) : The leader holds all
authority and responsibility.

A. Assertion (A) is true but Reason
(R) is false

B. Both Assertion (A) and Reason
(R) are true

C. Assertion (A) is false but Reason
(R) is true

D. Both Assertion (A) and Reason
(R) are false

93.

94.

95.

1Y, Tehne: fofiad featé =it et
ST 87

A. TR

B. &t

C. Terdf

D. 3ty

wsfTe} gt yeie 4 forsgwor o6t Seet
27

A. TTTHRIT T IaT ATHT

B. T{ierl sl fHfad &em

C. A=A ki FRIBT sT

D. $adt o fifa s

faT ; = faq TT e (A) SHFRT (R)
% 1T et ofhfodsh <Ml

FHT (A) : FRERT gl It hefiehd ot
SEEIRInIR

HIOT (R) : a7 o g1 it Afer 37T
forEeRY 2t 21

A. &I (A) T ek HIRT (R) 3T
2

B. % (A) T HR (R) THT T B

C. TU (A) I g TR BN (R) T

2
D. & (A) 3 HRT (R) SHT 318 B
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96. Which of the following are essential 96. famfafaa o & w9 & Wi JieHT &

components of strategic planning? ATIITH UTh &7
Eg x?s!iuoe: & Mission @ W; .
(c) Reengineering (®) . ﬁ?'
(d) Administration (c) T gofifartar
Select the correct answer from the (d) J=mTEA
following options- 39T T T -
A. d
(8) and (¢) A. (a) 3T (c)
B. (a) and (b) s
C. (b)and (d) B. (2) 3R (b)
D. (b) only C. (b) 3R (d)
D. &dd (b)
97. Which of the following is not a waste 97. famfataa 9 @ w Sa-faferar smufire
treatment method for Bio-medical Teg o ToTu S7aRRTe 3= fafer = 27

waste management?

A. Chemical Disinfecting A. TR el o"‘zi'q !

B. Sieving B. I
C. Incineration C. wEHTeRor
D. Autoclaving D. 3Tt
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98.

99.

Match the following Professional
Organization-

List - | List - 11
(@) TNAI () 1899
(b) INC (1) 1946
(c) ICN (111) 1908
(d) UNICEF (1) 1947

Select correct answer from the options
given below-

A. a-ll, b-1, c-1V, d-lll

B. a-lll, b-1V, c-I, d-lI

C. a-l, b-ll, c-1V, d-lI

D. a-lll, b-I, c-1V, d-ll

Which of the following is the ideal
way for a standard organization to
retain the motivation of its competent
employees?

(a) Free health care facilities

(b) Transparent policies

(c) Competent pay scale

(d) Free education for children
Select the correct answer from the
following options-

A. (a) and (b)

B. (b) and (c)
C. (b) only
D. (c)and (d)

98.

99.

frfafaa sreefRer de o1 faem -

o1 o1

(a) TNAI I 1899

(b) INC (1) 1946

(¢) ICN (III) 1908

(d) UNICEF (IV) 1947

et faw T fereredtt & & W ST -

A. a-ll, b1, c-1V, d-111

B. a-lll, b-1V, c-I, d-1l

C. a-l, b-ll, c-1V, d-1l

D. a-lll, b-1, c-1V, d-II

5T o 9 o6 1 aliehT Uk AT 13
foTe wrer HH=TiE Y ST Rl ST TEH
ohT TSI qlienT 82

(a) 31 Tameed S@WTe gladie

(b) et ffeat

(c) TeIT IqHH

(d) sr=ell o foTg 7ok fRram
fefeTRad faepedt # & w&t 3T =4-

A. (a) 3 (b)

B. (b) 3 (c)
C. %ad (b)
D. (c) 3R (d)
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100. Align the first line approach of
infection prevention and control in
health care organization.

(a) Appropriate handling

(b) Cleaning

(c) Hand Hygiene

(d) Disposal of Sharps

(e) Personal protective equipments
Select the correct answer from the
options given below-

A. c>e>b>a>d

B. b>a>d>c>e

C. b>a>c>e>d
D

.d>e>a>b>c

100. THTEe @S HST T HehHUT Sl UHATH
3R frioT & o ufth gfemror H-
(a) Sterd gsfedT
(b) THIE
(c) BT i =l
(d) Tehiett Sl o fae
(¢) SATTHTTA L& ITHT
e faw g foreredt o forg wrelt 3ee <H-
A. c>e>b>a>d
B. b>a>d>c>e
C. b>a>c>e>d
D

.d>e>a>b>c
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43 | SET A

IR 3ifehd o T EET 02 & ATerRAR 376 : 100
Time for making answers : 02 Hours Maximum Marks : 100
e :

1. 39y gfae & e R i)

2. O U TA HATAFTR R |

3. T % I & TE OMR IW-1E (3rTawsiie) W sifera i |

4. HUTCH: HodTeh T8l foRaT ATeRT |

5. TordT off TXE % SheTehoteX T AT ¢St Ual WIATSeA Wi T T A § |

6. OMR IT-Y (TTEI(IE) T TANT hid THT THT hIg SETAUATH T

T/ O Ig e T IT I0H /I T ferae antfe ug W fraes
THela®y 9 TR & 9 |

g 7T / fawat ht foeqa Sehtdt |

. | faw= . | fow=

1. | Tt ug Rt 6. | AfEerer afcTerer AT

2. | UTESRIETETATST 7. | et geur Us wgtes AR

3. | wreTHEe ATE T 8. | Tuearwit ts NaeaSiehet AT
4. | FFIS g AR 9. | =mgee Tou AT

5. | TAATERHEA BS e 10. | vetufAeym ve e iAsme
Note :

1. This question booklet contains of following subjects —

2. All questions are compulsory.

3. Indicate your answers on the OMR Answer-Sheet provided.
4. No negative marking will be done.

5. Use of any type of calculator or log table and mobile phone is

prohibited.
While using OMR Answer-Sheet care should be taken so that the
Answer-Sheet does not get torn or spoiled due to folds or wrinkles.

Details of Parts/Subjects :

S.No. | Subject S.No. Subject
1. | Anatomy & Physiology 6. | Medical Surgical Nursing
2. | Microbiology 7. | Mental Health and
Psychiatric Nursing
3. | Fundamental of Nursing 8. | Midwifery and

Gynaecological Nursing

4. | Community Health Nursing | 9. | Child Health Nursing
5. | Environmental Hygiene 10. | Administration and Ward
Management
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